N of reco track vs pT

[N of associated (recoToSim) tracks vs pT

N of associated (recoToSim) duplicate tracks vs pT

1%} F ﬁ F Q F [%]
8ok . g | 3
5 10°F =1 5100k =1
g 2 F g
F £ s F 8
10°F [ g
i 10°F 3
10°F E
i : 107
107 Z :
F 10
10F
15‘ 15_ i i i
o i o ; o
3 i 3 | : | T
14 : x £ Lt b 11— =
3 : |III|I:I| f :
*To 1 *To 1 10 : 2 2 s 1 1:0 : 2 2
trad P, (Ge\}f) tradl P, (Ge\})o
DQM_VO001_RO00000001__Global _mKFitNewOLDI000time__RECO
— DQM_V0001_R000000001 _Global _mkFitOLD-checkDet RECO
g 8 8
£ s £
§ 2 10 %
=
3
o
10? -
O N LT T e I
1 b
° g ° %
3 3 ! ]
14 o ' 24
R I . T R N 0983 = T 72 3 0¥FT= =1 0 12 3
track n track n track n track n
N of associated (recoToSim) tracks vs phi | N of associated (recoToSim) duplicate tracks vs phi_|
g g 2
£ 8 8
=
3
T
o
]
24

track ¢

-2

-1 0 1 2 3

track @



	Contents
	Page 1


